
2𝑥 + 3 = 9 3𝑥 + 6 = 12
         

 22 = 8𝑥 + 6
 18 = 2𝑥 + 4
−7 = 2𝑥 + 3
−4 = 4𝑥 − 8          

𝑺𝒐𝒍𝒗𝒆 𝒇𝒐𝒓 𝒙

  4𝑥 + 8 = −4
5𝑥 + 10 = 30
   2𝑥 + 9 = 27
    2𝑥 − 3 = 9

  4𝑥 − 8 = −4
5𝑥 − 10 = 30
  3𝑥 − 2 = −2
  3𝑥 − 6 = 12       

2 + 3𝑥 = 2
−5 = 2𝑥 + 3       

𝑨𝒏𝒔𝒘𝒆𝒓 𝒔𝒉𝒐𝒖𝒍𝒅 𝒔𝒂𝒚 𝒙 = _____

−2𝑥 + 4 = 8 −3𝑥 + 8 = 17

4 = 2 − 2𝑥 −2 = 7 − 3𝑥

−5𝑥 + 10 = −20
  −4𝑥 + 5 = 21
  −2𝑥 − 4 = 8
  −4𝑥 − 5 = 19

   4 − 6𝑥 = −12
   8 − 3𝑥 = 32
   5 − 7𝑥 = −16
−5 − 7𝑥 = −26
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𝑥

2
⎯⎯+ 3 = 7

𝑺𝒐𝒍𝒗𝒆 𝒇𝒐𝒓 𝒙
𝑥

3
⎯⎯+ 4 = 5

𝑥

4
⎯⎯+ 4 = 2

𝑥

5
⎯⎯+ 2 = 12

𝑥

4
⎯⎯− 4 = 2

𝑥

5
⎯⎯− 2 = 6

7 +
𝑥

6
⎯⎯= 5

1

2
⎯⎯𝑥 − 3 = 9

−5 =
𝑥

9
⎯⎯+ 7

−2 = −2 +
𝑥

8
⎯⎯

    5 =
𝑥

9
⎯⎯+ 2

−2 = −2 +
𝑥

8
⎯⎯

𝑥

−2
⎯⎯⎯+ 3 = 7

𝑥

−3
⎯⎯⎯+ 4 = 5

𝑥

−2
⎯⎯⎯− 3 = 9

−2 −
𝑥

7
⎯⎯= 3

−7 +
𝑥

6
⎯⎯= −5

−2 +
𝑥

7
⎯⎯= 3

𝑥

−4
⎯⎯⎯+ 4 = 2

𝑥

−5
⎯⎯⎯+ 2 = 12

𝑥

−5
⎯⎯⎯− 2 = 6

𝑥

−3
⎯⎯⎯− 4 = 5

2 +
−𝑥

7
⎯⎯⎯= 3

   7 −
𝑥

6
⎯⎯= 5

−7 −
𝑥

6
⎯⎯= −5
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